Maytag DG30CM 08 - BASO GAS VALVE

( MODEL DG30CA-CM BASO GAS VALVE |
DG30CA-CM-ORIGINAL
Conversion
Kit = 3-30101
Nat to LPG
3-31008
3-30127 3-31088 3-31043 3-30106
3-30068 | 3-30139 3-31086 3
3-30109

3-31084 ~__

3-31003 3-31076

—enntl
=3 -9 I \
AW e v

3-30098
/
//~ 3-30069 3-31065
3-31003 3-30074 373ces 331091
3-31067
3-30068 Pilot burner - Natural 3-31008 Screw - gas control bracket to
3-3006% Main burner - 2 used hood - 2 used
3-30070 Pilot valve and filter 3-31013 Screw - pilot shield to support
3-30073 Shut-off for gas valve 3-31043 Mounting bracket for gas control
3-30074 Manifold for main burner 3-31044 Retainer bracket for main burner -
3-30088 Gas control assembly 2 used
3-30093 Thermocouple 3-31065 Orifice for main burner - Natural
3-30098 Support for burner 3-31066 Orifice for main burner - Butane
3-30101 Conversion kit - Natural to LPG 3-31067 Orifice for main burner - Propane
3-30105 Pilot gas valve 3-31076 Gas supply line - supply to gos
3-30106 Main burner solenoid and valve shut-off valve
3-30109 Pilot burner - LPG 3-31086 Shield for pilot burner
3-30127 Pilot orifice - LPG 3-31088 Shield for pilot
3-30139 Pilot orifice - Natural 3-31090 Pilot tubing - filter to control
3-31003 Screw - retainer bracket to 3-31091 Pilot tubing - pilot to filter

support - 2 used

22

Maytag Residential Maytag DG30CM Dryer Parts Parts Diagram 08 - BASO GAS VALVE
Click on the part number to view part

Original Part Number Replaced By Part Description
001 Y330068 Pilot Burner - Nat.
002 NLA Not Available BURNER, MAIN
003 Y330070 Not Available PILOT VALVE AND FILTER
004 Y330073 Valve, Shut-Off
005  NLA Not Available TN
006 NLA Not Available GAS CONTROL ASSEMBLY
007 NLA Not Available THERMOCOUPLE---NA
008 NLA Not Available SUPPORT FOR BURNERS
009 NLA Not Available Sg)g)\/ERSION KIT (NAT.TO
010 Y330105 Pilot Gas Valve
011 NLA Not Available Uiy BURNER SOLENOID &
012 NLA Not Available PILOT BURNER - LPG
013 NLA Not Available PILOT ORIFICE - LPG

014 NLA Not Available PILOT ORIFICE - NAT


http://www.pwslaundry.com/c-507971-residential-maytag-dg30cm-dryer-parts-for-repair-service
http://www.pwslaundry.com/i-10408761-maytag-y330068-dryer-pilot-burner-nat.html
http://www.pwslaundry.com/i-10408762-maytag-y330073-dryer-valve-shut-off.html
http://www.pwslaundry.com/i-10408763-maytag-y330105-dryer-pilot-gas-valve.html

015

016

017

018

019

020

021

022

023

024
025
026

027

028

331003
NLA
331013

NLA

NLA

NLA

NLA

NLA

NLA

331086
NLA
331090

NLA

NLA

489483

Y0300830

Not Available

Not Available

Not Available

Not Available

Not Available

Not Available

Not Available

Not Available
Not Available

Not Available

Not Available

Screw 10-32 X 1/2

SCREW-CONT. BRACKET TO
HOOD

Screw No.10-32 X .375

BRACKET FOR GAS
CONTROL

RETAINER BRACKET-MAIN
BURNE

ORIFICE, MAIN BURNER-
NAT.

ORIFICE, MAIN BURNER-
BUTANE

ORIFICE, MAIN BURNER-
PROPAN

GAS SUPPLY LINE-28 1/2
INCH

SHIELD FOR PILOT BURNER
PILOT SHIELD
Pilot Tube-Filter To Contro

PILOT TUBE-PILOT TO
FILTER

PANEL COVER


http://www.pwslaundry.com/i-10415711-maytag-489483-washer-dryer-screw-10-32-x-1-2.html
http://www.pwslaundry.com/i-10414272-maytag-y0300830-dryer-screw-no-10-32-x-375.html
http://www.pwslaundry.com/i-10408764-maytag-331090-dryer-pilot-tube-filter-to-contro.html

	Maytag DG30CM 08 - BASO GAS VALVE

